XYZ2,=103.66 , 99.99 , 52.43

azo[(x )19
bz bylz/y
=1, b,y =04

X, = 0,110, B_ = 1,800
Crg=[AF+BA

6 OstwaldFarben (o)
von maximalem (m)C,g im
linearen Farbenraum (C,,
Lichtart P35, Y,,=100Q Y,;

Name Bereich X,

R, 575_775 60.96 3793 014 0. aarso 3511 605 496
V) 5007759543 9452 2.5 04957 0.491 578 472
G, 500575 25.67 56.78 251 03021 0.6662 548 548

C, 380575339 6226 5239 0.2282 0.419 496 605 Parameter:
B, 380500843 567 4998 01316 00884472 578 Y & Name
M, 575_500 78.19 43.41 50.02 0.4556 0.2529 5480548 i
575
W,,380_775 103.688.99 52.43 0.4047 03904 100% Lichtart P35
N38077501 009 005 0404603903 0% Y,,=100 Y,=0

7, 380_775 1866 180 943 0.4047 0.3904 18%
BGNO1-6A




